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Diff02 Answers for No.10981

[ I=(f(x)=4x-5) |
2=(f(x)=15x%) 05— 150)
2 A= =
_| 3= f)=-= _ _ .1:[P(1>=-7]}
Ansl= K(x) xzj ;> Ans2= .2:[1%2):%}’ ’A”S4‘[2=[f(-2):947]
5
SR
_ _ o
d=(f(x)=4x-75) 2=(f(x)=15x%) Tr]]
3=(f(x)=14x"-4x—10x-1) .4:(1’(@:%“—2%—3 Z
1 3 1 4 3 3 LS
D= P(X):_2x(3/2)_5_2 P 6= f(x):_4x(5/4)_3x(7/3)_4x(7/4)+4x(1/4) &
M
Ans3=1 7 (p(x)=58 x+ 362 +31) .8:[f(x)=—_3x;f/;x+2J R
9 {f() 2 J 10 (f() x(7/2)(18+65x2)j g@
= X)=——" . = X)=
(x+5) 2 M
. (f() 60x5+16x4—5x—4J . (f() 10x6—36x5—150x4+5x2—50x—75J U
. = X)= . = xX)=
L X (x—5) i LL T 1]
R
T
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Diff02 Answers for No.10996
[ 1=(f(x)=2x+3)]
2=(f(x)=6x")

4
3= (f‘(x) = —;j

oot

Ansl =

d=(f(x)=2x+3)

1=(f(2)=36) I=[f(-2)=1184]

= -10 = 5
, , Ans2 '2:(“3):_), , Ans4 '2:[“1):_}
27 2

2=(f(x)=6x")

2 .8 1
3=(f(x)=14x"-18x"=20x" -4 x) .4:(f(x):§x3—§x—5j
5 2 1 5 2 1
= f(X):3_2«/;+x(3/2) 6= f(x):_5x(6/5)_2x(7/2)_5x(7/5)+5x(4/5)
— -3x+84x+5
Ans3 =l 7 (px)= 182 — 12x + 8. = 20) .8:[f(x):— x ] '
24/x
9:(f(x):——9 ) ]0:(f(x):—3(12x4+1)J
' (4+3x) ' 24/x
8x°—20x° — 12 %% — 60 25x°+170x° +125x = x* = 10x -5
d1=]f(x)= - 2= f(x)= 5
L X (x+5) ]
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Diff02 Answers for No.11386

[ I=(f(x)=10x+2)]
2=(f(x)=12x%)
( p ()= 60) 1 =[f(2)=1308]
_| 3= f(x)=——J :[- =(P(2)= } _ 9
Ansl E , , Ans2 2= (f(1)=-10) , Ans4 S f(4):Z
1
.4={f(x)= (2/3)J
L X i
2
) i ) N
d=(f(x)=10x+2) 2=(f(x)=12x%) P
25, 2
3= (P(x)=142"+25 5 +3 %) .4=(f‘(x):?x4—§x Z
2 2 s oex 5 LS.
= f(x):ﬁ_3_x(3/2) 6= f(x):_6x(11/6)+ 5 _6x(7/6)+6x(1/6) __f;__
Ans3 = —3x+24x +4 5 s
I 7o (f(x) =20 +30 7 + 48 x + 8) .8:(f’(x):— J ¢
24/x t
h
25 15 4520
I=(f(x)=—"""73 10=|f(x)= @
(3+5x) 2 by
; (f() 32x8+20x5—2x3—20] . (f() 25x6—34x5—186x4—96x3j U
. = X)= . = xX)=
L X (-3 —i-x)2 i LL T
:)
T
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Diff02 Answers for No.11394

Ans3 =

[Page = 0017]

CI=(f(x)=2x+3) |
2=(f(x)=15x%)
( 5] 1= (f(4)=144) A =18(-2)=-12]
_| 3=fx)=—-— _|1= = -
Ansl = D==2) ’AnS2_[.2:(f(1):-8)}’  Ansd= .zz{f(l)zﬂ
.4=(f(x): (2/3)]
L X _
I d=(f(x)=2x+3) 2=(f(x)=15x") |
3=(f(x)=8x+12x"=2x) .4:(f’(x):?x3—x)
2 1 3 5500 1
J= f(X):ﬂ/;_2x(3/2)+3 6= f(X):Sx(4/5)_5x(8/5)+ 3 x(6/5)
7= (f(x)=20x"+ 63 x>+ 28 x +2) 8 (f‘() Dtz x—s] o
J=(1(x)=20x X X S = X)=-—
24/x
9—(f( )——29 j 10—[?( )= 3X(3/2)(_5+6xz)j
UMY T axasy A=W 2
16x*+4x=10x-10 4x - 16x" —54x-36x* - 90 x
d1=|f(x)= ; 2= f(x)= -
L X (x-5) i
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Diff02 Answers for No.11397

[ I=(f(x)==5+2x)]
2=(f(x)=9x")

3 _ _ _ 3
Ansl = .3=(f’(x):—;j , ,Anszz[-l—(f’(6)—540)}, . Ansd = .1{?(1)_2}

: 2=(f(1)=-4) 2=[f(2)=-716]
.4=(f(x)=ﬁJ

2
d=(f(x)=-5+2x) 2=(f(x)=9x%) P
3=(f(x)=24x" +15x>+2x—4 4(f( 163325) g
3= = + +2x— 4= =X 4+TX -7
)C) X X X ) x) 3x 2x 6 S
2 5 5 4 1 4 LS
5= f(X)=3+f_ (3/2) O=| P =="" T+ s T e L 09 &
X  2x 4 x 5x 5x 5x INYal
_ 3x+84/x—1
Ans3=1 7 (p(x)=60 % — 16 x + 60 2+ 16) .8=(f(x)= = j S I
24/x ‘
, (f( : 17 J 1< e 10x° -3 h
(5+3x) 20 %
40 x" —4x"=30x° - 15 25x° =70 —116x" — 18 x’ —45x° U
d1=|f(x)= p 2= f(x)= -
I X (x+1) 1 LT ]
2
A
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Diff02 Answers for No.11456
[ I=(f(x)=10x—4)]

2=(f(x)=15x%)
1=(f(2)=24)

_ _ 2 1 =[f(2)=1376]
Anst= '3_(%)_ xz] ’ ’A”S2:[.2=(f(-1)=8)}’ A 4:[ }

2=[f(4)=-2]

iefrm2) |

|
1

1

1
1

2=(f(x)=15x)

2
— :(
A=(f(x)=10x-4) P
3=(f(x)=28x"-12x"-4x") 4=|1( )—3xz+§j s
3= X)=28x b b 4= X)= 5 9 S
2 5 34/ x 2 1 1 LS
S= f(X)z_x(3/2)+2«/;_3 6= 1(x)= ) _3x(5/3)_3x(4/3)+3x(2/3) __i__
_ 3x+104/x =3
Ans3 T=(f(x)=9x+22x+1) .8=[f(x)= : 2 ] ]
24/x t
, (f() 13 J p [f() 10x3—1] (’Z@
Y= X)=—"—"—_ . = X)=""73,57
(x—5) 2% M
y (f() —5x3—10x2—9x—12] . [f() 15x6+24x5—30x4+2x2+8x—4] U
A= f(x)= do= 1 x)=
I K (x+2) | LT
2
(]
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Diff02 Answers for No.11496
A=(f(x)=2x+2)

2=(f(x)=12x)
3 1 =(f(2)=60) T
Anst= '3:£f(x):_x2J o Ans2= .2:(f(3):_1—0j’ : A”S4:[2=[f(2)=444]}
, 27
A=|f(x)=—"—
_ (“” ﬁj_
SR
d=(f(x)=2x+2) 2=(f(x)=12x%) P
3=(f(x)=25x"+9x*+4 4=l )= or o g
I=(Ff(x)=25x"+9x " +4x) 4= (x)—Sx +5x S
1 2 2 2 5 1 LLS ]
5= f(X):3+—2«/;_x(3/2) 6= f(X)=5x(7/5)+5x(3/5)2x:;/j)5x(6/5) __f/c[__
Ans3=\ 7 (p(x) =100 % =20 x + 60 x* — 12) .8=(f(x)=—_3x+1+4 XJ S B
24fx ‘
9—(1’( )-—— J zo—(f( )—x(m)(mz”)} @
T T (axe sy A 2 by
( —24x2—104x—75J ( 20x6+60x5—48x4—12x3] U
A= f(x)= - 12=]f(x)= ;
L x (x+3) ] LL T 1]
P
T
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Diff02 Answers for No.11509

[ I=(f(x)=8x+1)]
2=(f(x)=15x%)

4 A1 =(f(4)=192) _[ _ﬁ}
Ansl = -3:(f(x)=—;J , Ans2 = 31, , Ansd4 = dA=|1(4)= 3

’ .2:(f(-2):—j
5 2 2=[f(2)=1432]
s=(reo- 7]

2)
) X _ (L
d=(f(x)=8x+1) 2=(f(x)=15x%) P
1
3=(F(x)=7x"+24x +15x" - 6x%) .4:(f’(x):6x3+4x2—5) Z
s-[ren Lo N 5 5P 4 i
D= X)=-— -1-— 6= x)=- + + +
x(3/2) ﬁ 4x(9/4) 4 5x(4/5) 5x(1/5) s
Ans3 = ; ) -3x+104x -4 , , a
T=(f(x)=32x" +48x" +24x+4) S=[f(x)=- )
24/x
, (f() 34 j 10— 20 3x 42 h
I=11(x)=—"T""7 A0=|1(x)=-
(3x-5)’ 2277 o
4x +2x" - 10x-15 6x +16x>+14x—20 U
Al=]f(x)= ; A2=|f(x)= ;
L X (x+1) ] LL T 1]
2)
(]
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Diff02 Answers for No.11539

[ I=(f(x)=3+4x)]
2=(f(x)=9x")
S 1=(f(3)=108 . =[ ='—}
Ansl = .3:(f(X)=—x2J , Ans2=['2=((fg(2))=_1))}, , Ans4 = I=|1(4) 16
5 2=[f(2)=1023]
A=|f(x)=—F
i ((x) 2ﬁ]_
SR
_ i} o
d=(f(x)=3+4x) 2=(f(x)=9x%) TPl
T s S _ _24_i_§j v
3=(f(x)=30x"+8x" +2x-5) .4—(f(x)—2x 3x p g
5 1 2 2 34/x 1 LS 1]
INES f(X):2«/;+2x(3/2)_5 6= f(X):3x(1/3)_3x(5/3)+ 2 +3x(2/3) __i__
AnS3 =l s (P(x) =362 +24x+9x7 1) .8=[f(x)=3x+26ﬁx_2J e
(3/2) 4 h
.9:(1’(@:—%} .]0:(f(x):x (26)”15)} @
(4x+5) 2 M
”_(f( . 16x° + 10 x* — 24 x — 45 12_[f( . 12x5+15x4—236x3+14x2—80x] U
- =|f(x)= x4 A2=|1(x)= (x+4)2 | L7l
:)
A
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Diff02 Answers for No.11585
[ I=(f(x)=2x+4)]
2=(f(x)=6x")

5
.3:£f(x)=—;J o

Ansl =

I d=(f(x)=2x+4)
3=((x)=14x"+24x =20 +2x)

Ans3 =
" 7= (f(x)=18>+38x+ 12)

9—(f( )——Lj
T T (eesy

[ 457 +10x" — 6x — 45
Al =|f(x)= -

X
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Ans2 =

5 1
.5:[f(x): e + o —5] .6[f(x) -

1= (f(4)=144)
4 b
.2:(f(-3):9

1 =[f(-2)=284]

’ Amk[ 2=[f(1)=-2]

2=(f(x)=6x%) |
2, 1 3
Ad=f(x)=—"x"—-T"x+—
5 2705
(3/2)
1 1 2 5x
(4/5)_5x(6/5)+5x(3/5)+ 2
g (f() -3x+2 x+4] ,
S=1(x)=-
24/x
(3/2) 2
X (20+9x%)
10=|f(x)=
2
8x +18x"—42x’ +21x* - 36x
12=|f(x)= ;
(x+3) i

|

1
1
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Diff02 Answers for No.11593
A=(f(x)=8x+3)

2=(f(x)=12x%) ¢
6 1 =(f(5)=300)
_ .3:(%):__} _ 3 :[ d=[f(1)=-1] }
Ansl 2 o A=, [2)=") > AnsE=1 5 1p(2) = 2400]
1
.4:[f(x)= (2/3)J
L X _
2
d=(f(x)=8x+3) 2=(f(x)=12x%) P
6 4 3 25 4 1 V
I=(f(x)=35x"+20x —20x") 4= f(x)z?x —gx S
5 3 2 2 3 LS ]
S= P(X):3_2ﬂ/;_2x(3/2) 6= f<x>:_3x(4/3)_3x(5/3)+3x(1/3)_2x(5/2) __j’;__
_ “3x+24x+5
Ans3 =1 7 _ (p(x)=80 X +30x =22 x+2) .8=[f(x)=— Jx J oo ] @
24/x ¢
) [f() 11 j 10— 1) 27x° +4 h
J = X)=—"__ _ . = X)=—__
(5x-37 20 o
—6x"—42x—32 25x°+130x° +125x =35 —6x—15 U
d1=|f(x)= ; 12=|f(x)= :
L x (x+1) i LL T 1]
)
A
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Diff02 Answers for No.11633
A=(f(x)=6x-5)

2=(f(x)=6x")
) 1 =(f(3)=81) 1—[f1 _ﬁ}
Ansl = ~3:(f(x):__2J , , Ans2= ( 2) , ., Ans4=|" " ()= 2
X 2: f(-z):
4 2=[f(2)=138]

(v ] -

d=(f(x)=6x-75) 2=(f(x)=6x")
( 15, 6 1j
Ad=f(x)=—"x"—-"x+7
4 572

3=(f(x)=5x"+15x"=2)

) 5 3 3 1 1 -
6= f(x):4x(1/4)_4x(7/4)+4x(3/4)_4x(5/4) _

S=|f(x)=—"777- -2
( x(3/2) 2&

e N @ T~ KPR ORIC

_ 3x+1+44x
AnS3 =1 7 (f(x)=64x> +84 x> +28x+5) .8=(f(x)= “/7} S

24/x

(3/2) 4

23 S5x (13x —-1)
9=|f(x)=——""7 0= f(x)=
(x—4) 2
~20x"-30x"-32x-30 10x°+28 X +20x" —2x° —5x>—4x
d1=|f(x)= - 2= f(x)= ;
i x (x+1) | LT 1]
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Diff02 Answers for No.11636
A=(f(x)=6x—-4)

2=(f(x)=18x%)
_ _ 2 .I:(f(4):240)} [ d=[f(1)=-5] }
Anst = '3_(f(x)_ xzj o Amz:[2=(f(-1)=10)’ > At =] 5 1p(2) =2027]

(i) |

1
1
1

2=(f(x)=18x%)

2
) o
A=(f(x)=6x—-4) P
6 5 3 2 V
I=(f(x)=35x"+6x +8x-95) 4= f(x):gx +x S
1 1 3 1 4 1 LLS 1]
I = f(x)z_zx(3/z)_5+2ﬁ 6= f(x)=—4x(7/4)_ x(5/4)_3x(7/3)+4x(3/4) __j:cl__
_ 3x—1+10
Ans3=\ g (p(x)=10x+9 x> —24) .8=[f(x)= d ﬁ} ol ]
24/x ¢
) (f() 11 J 10— 1) 20x° -3 h
I=11f(x)=—"" A0=|1(x)=—""7>"
Gr-17 2O by
4x 45X -2x-10 4x° -3x'—40x" -36x° U
1= f(x)= ; 2= f(x)= -
L X (-3+x) i LL T 1]
)
.
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Diff02 Answers for No.11650

[ I=(f(x)=10x—-2)]
2=(f(x)=9x")

3 1 =(f(5)=300) { 9_7}
Ansl = .3:(f‘(x):—;] L Ans2= 2:( 10)’ ansd=| [T =1

3 . [ (' ) 77]

-,
] i ] o
d=(f(x)=10x-2) 2=(f(x)=9x%) P
10
3=(P(x)=5x'+4x+5) .4:(f(x):?x4—x3] Lf
2 1 4 4 5 1 [Ls ]
J= f(X):«/;+5+2x(3/2) 6= f(x):—sx(9/5)+5x(l/5)+ 4 +5x(4/5) __f;__
Ans3 = —3x-3+44x
TIZ 7 (f(x) =100 +30x + 75X = 5) .8:[f(x):— [j S I
24/x t
h
17 265+ 15)
I=|f(x)=—"""73 0= f(x)= @
(4+3x) 2 M
. [f() 2x4—13x2—45j . (f() 6x4+8x3—23x2—2x—4] U
. = X)= . = X)=
L X (x—l)2 i LT
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Diff02 Answers for No.12273
[ I=(f(x)=10x—-4)]
2=(f(x)=18x%)

2
3= (f(x) = —;J

o)

Ansl = , , Ans2 =[

I I=(f(x)=10x—-4)
3=(f(x)=35x"+12x" +25x +9x%)
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[.1:[f(2)=3060]

.]:(f(5)=375)}, , Ans4 = 2=[f(1)=0]

2=(f(-1)=4)

2=(f(x)=18x%)
( 25 , 2, j
4= f(x):?x —gx - X

1 5 1 6 ]
p— + p—
7/6 11/6 5/6 11/5
x( ) 6x( ) 6x( ) Sx( )

5 3
S=f(x)= -1- 6=|f(x)=—
[ 24/x zx“’”J ( 6
_ 3x+10 +4
Ans3=\ g (p(x)= 122 +42x+12) .8=(f(x)= ad ol j ’
24/x
- - 11 B _27x5—1
. f(x)__(x—z)2 A= P = 250"
15X +10x*~2x—4 45 —x*—14x-15
A1=|f(x)= ; 2= f(x)= S
i x (x+1) ]
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Diff02 Answers for No.12356
[ I=(f(x)=10x-2)]
2=(f(x)=12x%)

2
3= (f‘(x) = —;)

1
.4={f(x)= (2/3)]
L X J

A=(f(x)=10x-2)

Ansl =

3=(f(x)=20x"+3x"—4x+1)

1 2
.5:(f‘(x) :m— x(s/z) - 3}

T=(f(x)=40x"+28x+12x* +8)

9—(1"( )——2—5J
O G (x+5Y

4x —6x*-10x-75
d1=|1(x)= -

X

Ans3 =
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o Ans2:[.1=(f(3):81)

.6:[f(x):—

J=[f(-2)=341]

9
.zz{f(l)zﬂ

2:(f(1):_10):|7 , Ans4 =

2=(f(x)=12x%)
4—(f( _i 3 2)
4= x)—3x 2x

1 1 3 5 ]
+ + —
(6/5) (4/5) (2/5) (8/3)
5x 5x 5x X

3
3x+1+6J¥J
24/x
(7/2) 5
X (—45+13x)}
2
—5x6—22x5+45x4+240x3J
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S
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Diff02 Answers for No.12585
A=(f(x)=4x-4)

A=(f(x)=4x—-4)
3=(f(x)=20x"-4x"-10x)
3 2

2ﬁ_x(3/2) -

.5=(f(x)=

2=(f(x)=6x) 1=[f(2)=372]
~ 6 .I:(f’(6):432)} ST
Anst= ‘3‘£f(x)‘ sz TGO - 2| ro -3

2=(f(x)=6x")
4
4= (f(x) :4x4—gx3j

1 1

3} 6= [f(x) =
5

4 4 ]
+ - +
6/5 4/5) 9/5 1/5
x( ) Sx( Sx( ) Sx( )
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Diff02 Answers for No.l1l2667

[ 1=(f(x)=6x+5)]
2=(f(x)=15x%)

3
Jz(ﬂm:—;i

o)

A=(f(x)=6x+5)

49
B NP K )
2=[1(2)=460]

2=(f(x)=15x%) | ‘

X

Ans3 = 5
=(f(x)=18x—-1+15x")

[Page = 0031]

(9/5) + (1/5) +
X 5x
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1/4
Sx( ) 1 J
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4 Sx( )

3x+2J;+4J

S
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5 4 3x° 4}
3=(f(x)=12x"+5x" —4) A4=|f(x)= p _g

2 1 4 4 LL o 1
S= f(X):,\/;+5+x(3/2) 6= f(x):-s

24/x
, (f( : 21 J P {f( : 54—9x4]
(3x—-5) 24/x
3x -6 —10x>—40 5x°+44x° +100x" = 5% —40x— 100
Al =|f(x)= 5 A2=|f(x)= ;
L X (x+4) i L4 1]
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Diff02 Answers for No.12678
[ I=(f(x)=4x+4) ]
2=(f(x)=18x%)

1 =(f(4)=96)

5
_ .3:(f‘(x):——] _ 3 :[.1:[P(2)=708]}
Ansl 2 , , Ans2 223y ==} , Ans4 2 [f(4)=2]
27
5
A4=|f(x)= 2/3)
L 3x i
| d=(f(x)=4x+4) 2=(f(x)=18x%) |
4
3=(f(x)=12x"+20x"=3x"+8x) .4=(f(x)=3x—g
S (f() 2 5 1} . (f() 2 2 5 1 J
S=|f(x)=—"TT7"77+—F7—+ b= f(x)=- + - -
x(s/z) 2& 5x(7/5) Sx(s/s) 2x(7/2) 5x(6/5)
Ans3 = 3 5 —3x-5+4+44x
T=(f(x)=32x"+54x"+24x+16) S=|f(x)=- 5 7
X
23 x+5
S R == o
—12x*=30x° - 16 x - 25 155 +6x°—27x"—12x
dI=|1f(x)= - 12=|f(x)= -
i X (x+1) |
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Diff02 Answers for No.12690
[ I=(f(x)=6x-2)]
2=(f(x)=15x%)
6 1 =(f(6)=432) ]_[f A _ﬁ}
Ansl = .3:(f‘(x):——2] , ., Ans2= ( ﬁj , ., Ans4=|" ( )_16
X 2=[13)=
| 27 2=[f(2)=296]
4=|f(x)=—F
BRI

1
1
1

2=(f(x)=15x%)

( 15 , )
4= f(x):?x -X

1 1 1 3 5 L
b=|1f(x)=- 5x(6/5) + 5x(4/5) + Sx(z/s) - 3x(8/3)

3
S=f(x)=2+———+—
3x+6 x+4]
X

Ans3 = T=(f(x)=6x"-2x-11) .8:(f(x)=— 2fx
5(3x3+1)J

I J=(f(x)=6x—-2)

3=(f(x)=6x +16x —6x%)

=
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9= f‘(x):——] A0=|f(x)=
( (—4+3x) [ PPCIEY
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Al =|f(x)= 3 A2=|f(x)= 5
L x (x=2) i LL 7 1]
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Diff02 Answers for No.12696
[ I=(f(x)=2x+5)]
2
2=(f(x) 9x5) 1 =(f(3)=54) ]Z{M):g}
Ansl = .3:[f(x)=—;j ., Ans2= .2:(“2):2}, , Ansd=| - 16
5 4 2=[f(-2)=-528]
i .4—(f(x)—ﬁJ |
B
_ ) _ s
A=(f(x)=2x+5) 2=(f(x)=9x") P
3=(f(x)=18x"=8x -9x" - 10x) .4=(f(x)=§x4+2x2j d
27 4 S
5 I 5 1 2 50 LS
-5=[f(x)=4_2x(3/2)_2ﬁJ 6= f(X)z_zx(7/2)+5x(4/5)+5x(3/5)+ ) __ji‘l__
Ans3 = . ( —3x+1+8«/;] o || a
TJ=(f(x)=40x"+6x"+38x+3) S=|f(x)=-
24/x t
( 11 J ( —4+15sz 4
9= f(>c)———(1+3x)2 10= f(x)_——zﬁ %
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Diff02 Answers for No.12777
[ 1=(f(x)=8x+2)]
2=(f(x)=18x%)

2
3= (f‘(x) = —;]

o)

Ansl = , , Ans2 =[

A=(f(x)=8x+2)

.]:(f‘(6):324)} nsd

[.]:[P(Z):880]
2=(f(2)=-1)

2=[f(1)=0]

2=(f(x)=18x%)

1 1
3=(f(x)=24x"+12x +10x - 4) .4=(f(x)=2x4—§x+gj
5(“) 5 1 3] 6[f() 1 2 34x 3 J
S=|1f(x)= + - 6= f(x)=- + + -
2& 2x(3/2) 3x(4/3) 3x(1/3) o) 2x(5/2)
= -3+3x+4
Ans3 7=(f(x)=27 %" +36x +20) .8:(f(x): a ﬁj ©
24/x
0 (f( : 29 J 10=| #0x) 65x +3
9= X)=—""____ A0 = X)=" .
(3)(7—5)2 2x(3/2)
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A= f(x)= P A2=|f(x)= 2
| x (x+4) |
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Diff02 Answers for No.12785

L I=(f(x)=2x+2) ]
2=(f(x)=6x")

3 _ B ~ _ﬁ}
I o N SR il SRS L

5 2=[f(2)=101]
.4:[f(x)= (2/3)]
L 3x i
2
_ ) . i
d=(f(x)=2x+2) 2=(f(x)=6x") P
4, 3, 3 14
3=(f(x)=16xX -9x"+4x+1) .4:(f(x):§x3—gx2+5xj g
S [f( ) 1 3 4] ) (f( ) 301 1 3 ] LS 1]
D= X)=— — — 0= xX)= — + — &
x(3/2) 2«/; o) 3x(4/3) 3x(2/3) 2x(5/2) T
- 3x+10 +4
Ans3 7= (P(x)=48x% + 48 x +21) .8=[f(x)= u u J ol ] @
24/x ‘
, (f() 8 ] 10| e 155 -2 h
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(x+4)° 227 %
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Diff02 Answers for No.13085
[ I=(f(x)=6x+2)]
2=(f(x)=6x")

4
3= (f(x) = —;J

Ansl =

, , AnsZz[

1
1= (f(4)=288) B .1:[1’(1):—}
.2:(1‘(1):-8)}’ , Ansd = 2

) 2=[f(2)=2012]
.4:[f(x)= (2/3)J
L X _
I d=(f(x)=6x+2) 2=(f(x)=6x%) |
15, 16, 5
.3:(f(x):35x6—10x4—4x3—9x2) .4=(f(x):?x4+?x3—zj
(1/4)
3 1 1 5 4 5x
S= f(X):5+2«/;_x(3/2) 6= f(x):—Sx(6/5)—4x(9/4)+5x(1/5)+ 1
Ans3 = . 3x+1+44/x ,
TJ=(f(x)=40x" +15x"+32x-2) S=|f(x)=
24/x
, (f() 21 J P (f() 39X6+1J
(x+4) 24/x
16x —12x"=20x" - 75 20x° -35x"—36x —10x" —8x
d1=|f(x)= - 12=|1(x)= -
L X (x—=2) i
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